Fisher-Price

Instructions

Seating Capacity: 400 ibs.

The Fiéﬁé_r-i"rice Grow With Me Picnic Table requires adult assembly. Pl.ease: O

read these instructions thoroughly and identify all paris before assembly.
Refer to the parts illustratien and parts list-for identification. ‘if you have any

problems with {his product, please call Fisher-Price Consumer Aftairs, toll free -5
- at 1-800-432-KIDS {1-800-432-5437) between 8AM and 5 PM Easlam lime L

' Monday !hruugh Fnday, orwrite io: -
: . Fisher-Price, inc, R
- Att: "Consumer Affairs
*:636 Girard Avenue - .
East Aurora New York 14052

CAUTION_'-' i

Keep small parts, hardware and plastlc
bags out of children’s reach."

Phillips Screwdriver

Tools needed lor assembiy:
T : Wrench or Pliers

- Before assembly, w[pe each plasuc part with a damp c!oth to

5 remove any debrns. S
" Parts List
“ILLUSTRATION - DESCRIPTION QUANTITY
NUMBER o
S0 ) Cueved End F'iece 2
2 T-Shaped Piece 2
3 Bench " 2
4 Table Top 1
5 Short Bolt (2-1/4") 4
6 Leng Shoulder Bolt {3-5/8") 8
7 Acorn Nut 8
8 Flat Washer 8
9 Thick Washer 4
10 Cap Nut 4
1 Labet 2

Grow With Me Picnic Table

- (SHOWN ACTUAL SIZE)

.8 Long Shoulder Bolt, 3-5/8" .
" (SHOWN ACTUAL SIZE)

— @

4 Thlck Washar .'

4- CapNut i s Acurn Nut B-Flat Washer

2 - Label




Positioning The Benches

:The benches can be assembled in three ditferent ways, depending on the size of the children.

us) [
> 5 3 5
L~_—J Kot L

Step 2 REE
The table top may be adjusted 1o a comforiable
height for children, In one inch increments.

NOTE Make sure both T-shaped pleces are at
+tha same height.

’ Step 3

*
-

» Repeat! thls prncedure to anach the other side of the 1able top- T - — " " — . '
Stepd - | THREE (3) YEAR LIMITED WARRANTY .
» - Apply the labels 1o the recessed areas of the curved end p,aces Fisher-Price, Inc. 636 Girard Avanue, East Aurara, New York, warrants
To apply labels: Lo ;he originat owner that the Grow With Me Picnic Table is free from all
. o afects in material and workmanship when used under normal condi-
_».Be sure labsl areas are cleart and dry. - tions for a period of three (3) years from the date of purchase. This
" Apply center of label first and smoath outward 1o remove air bubbles warranty does not cover color fading of the producs, prodsci pars,
. Labels adhere best when applied only once, e B damage from excessive abuse or Acts of God.
Reposnt%omng. though ;:ossnble. reduces the efiectiveness of the adhesive. | "Shouild the praduct fail to perform properly, we will repair or replace it
: i .-} - free of charge. Purchaser is responsible for shipping the product to the
Cieanmg RS, address indicated above and for a#f associated freight and/or insurance
cost. Fisher-Price will bear the cost of shipping the repaired or replaced
Use a mild soap and water soiuuon and clean cloth. Rinsa clean with water to itemn 10 you. This warranty is vald if the owner repairs or madifies the
-remave soap resxdue S product.” This warranty excludes any fiability other than the above

“Insert two long shoulder bolts (3-5/8") into the
- outside of the curved end pleces. .~~~

- moving the T- shaped piace up or dawn.

Insert two short bolts (2-1/4") into tha outside .

- of the curved end place. ’

- Aftach a flat washer to each short bolt as shown

1. For smaller childran',“'p'oéilion the benches closer 2. Fér.-i_agﬁéf_chlldren, position the benches further 3. For children of different sizés. position one bench
to the table top. Place the benches with the - . ;.away from the table top. Place the benches so closer to and the other bench further away from
Fisher-Price Iogo tacing outward. "7 - that the Fisher-Price logo faces inward. the table top. Place one bench so that the

DS . o RO T ) Fisher-Price logo faces outward. Place the other
bench so that the Fisher-Price logo faces inward.

Assembly : :

- Step 1
» After you hava demded how you would ke to

position the banches, place one bench S
between tha curved end piaces, as shown. -

Attach a thick washer to sach long shoulder
bolt, as shown. .-
Using a wrenchror piiers, fasten a ¢ap nut onfo
each long s_hc_m!der bolt.
Repeat this procedure 1o attach the other :
bench ta the curved end piaces.

Place a T-shaped piece onto a curved end

place, so that the graoves on the T-shaped

plece face the notches on the curved end pieca.
The _tab[e top height may be adjusted by

Using a wrench or pliers, fasten an acomn nut
onto each short bolt. o ’
Repeat this procedure o altach the other
T-shaped piece to the curved end piece.

Fit the table top over the four prujecﬂons on
the T-shaped pieces.

To attach one side of the table top, insert wo long shouider bolts B
into the outside of the T-shaped piece. - L
Attach a flal washer to sach fong shoulder hon as simWn
Using a wranch o pliers, fasten an acom nut onte each long
shoufder bolt.

mentioned, including but nat hmned ta any incidental or consequential
damages. =

SOME STATES DO NCT ALLOW THE EXCLUSION OR LIMITATIONS
OF INCIDENTAL OR CONSEQUENTIAL DAMAGES, SO THE ABOVE
LIMITATION OR EXCLUSION MAY NOT ARPPLY TO YOU.

THIS WARRANTY GIVES YOU SPECIFIC LEGAL RIGHTS, AND YOt
rg‘g_?k%) HAVE OTHER RIGHTS WHICH MAY VARY FROM STATE

© 1988, 1991 Fisher Price, Inc.

Printed i U.S.A. East Aurora, New York 14052 2097 7 63029%






